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12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 50 objective type questions. Each question

will carry ¢twomarks. Allquestions of Paper-II will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

(0] To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

() Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(1) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Psychology

Paper II

HqEEITE
gyautent 11

Time Allowed : 75 Minutes]
Note : This Paper contains Fifty (50) multiple choice questions, each question

[Maximum Marks : 100

carrying Two (2) marks. Attempt All questions.

U SRd. @E U Wred.

AT ;A TRAULTERG THY UAE (50) SgTARl TR o oA Wod TN g (2)

Adler’s theory is labelled as :
(A) Analytical psychology

(B) Interpersonal psychoanalytic
theory

(C) Individual psychology
(D) Psychoanalysis
Prosopagnosia is the loss of :
(A) Depth perception

(B) Colour perception

(C) Face recognition

(D) Size judgement

The conditioned stimulus gets its
reinforcing power from association
with the :

(A) Unconditioned response
(B) Unconditioned stimulus
(C) Discriminative stimulus

(D) Generalised stimulus

ATATT IUURNH HIVA  ATHITIETA

;e ?

(A) fagersomeaes:  AERTE

(B) AatorferTeh ARSI SUqwt
(C) Al HAFEITE

(D) wHAIfoReTsIETR

THAHITAHE qia FagArdn A9
Bl

(A) o G

(B) T HocH

(C) =Rq/3A Yeafusm
(D) =R fofEm

ATYHET SEURT IR ATA
AR Yoo fHesd :

(A) sHAfYEHT sTfRan
(B) smetfiweid SEUsh
(C) fa9eArcqs 3Eueh

(D) 9H=itgd 3EUh

[P.T.O.



Tulving proposed the distinction

between the ...........ccvvee.. memory.
(A) episodic and semantic

(B) deep and shallow

(C) event related and generalized
(D) short-term and long-term

A concept that is made of several

characteristics is known as :
(A) Disjunctive concept

(B) Conjunctive concept

(C) Natural concept

(D) Relational concept

A person wants to buy an expensive
sports car but he is apprehensive
that his financial budget may be

collapsed.

The conflict faced is -
(A) Approach-approach
(B) Approach-avoidance
(C) Avoidance-avoidance

(D) Double approach-avoidance

AUG - 13215/11

(A) wrEfies enfor stefardt

(B) U 3mfol ¥

(C) =T Hafa ofifor |H=idha
(D) STeqehTeia 3T SrefehTeta

S TUTATITSeITITYA qUR STt

Thoqicdl h WU ?

o (a) hd

(A) faerst Hahoum

.

(B) Ushahgl HohoUdl

(C) ==fifer Fehed

(D) HaUTHS: Hehod

Teh! STl HEN TIed &R BRI
FEE R, IO S STk feiem
e 3Teft offdl el =

AT TG JeieTdehl hiorat Fers fmor
e ?

(A) SUMTH-SUNH HeS

(B) SUNTH-3TUNTH Toe
(C) STYNTH-3TINTH  Terel

(D) fg-Surm-sare He




Which kind of thinking is assessed
by traditional 1Q tests ?

(A) Divergent thinking
(B) Convergent thinking
(C) Creative thinking
(D) Autistic thinking

While computing the split-half
reliability, the correlation between
the odd and even parts was 0.50.
What would be the reliability
coefficient of the test after Spearman-

Brown correction ?
(A) 0.50
(B) 0.62
(C) 0.67
(D) 0.76

Sagittal plane of the brain allows us

to see the brain :

(A) as bisected into R and L halves
(B) as viewed from behind

(C) as seen from the front

(D) as seen from above

AUG - 13215/11

H{H{I‘Id ﬂro&‘-lrll AT IO TehTTeA

foemrufsra= 9\ waa ?
(A) Fgast fo=m
(B) watsft fo=m

(C) T famr
(D) Ty fa=r
fg-we favaa-iad weaq ‘g ar’ 9

‘fovmant’ It geHeEY 0.50 3dh!

fHerar. fegsiaa-gisadt oLl

ATREATER =reuiel fava-iaar Tumeh

ot e/ ?
(A) 0.50
(B) 0.62
(C) 0.67

D) 0.76

(D) fogm ufigea/asd wgm
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10.

11.

12.

If you stare at a single spot of light
in a completely dark room, the light
will appear to move about in an
erratic manner after a few seconds.

This is due to -

(A) Stroboscopic motion

(B) Phi-phenomenon

(C) Autokinetic effect

(D) Defective visual perception

The plateau point in a learning

curve 1s the point at which :

(A) physiological limit of capability

has been reached

(B) incubation is occurring and

performance will increase later
(C) response has been extinguished
(D) spontaneous recovery occurs

The phenomenon of TOT 1is
connected with that theory of
forgetting in which ..................o.. 1s
the basis.

(A) Retroactive inhibition
(B) Proactive inhibition
(C) Trace change

(D) Retrieval failure

10.

11.

12.
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Teh! U1 STEAT Tieid Tehta TR
foqehe q®I < AlSA od Tar o
TeRTRT ShTEl Seha MY ST/ Teaum
YHRIMEM BId 3TFcian foodl. § hemes
ued ?

(A) st i
(B) ®&F YH

(C) Tl 9o
(D) HEIY FRIHAEA

FEIIT TR TSR foig areesd

fega .

(A) &Har=l IS
TSI Ugeoiell 319

(B) 37 Ao sred SAIfor e AR g5
et feaa

ERICEI]

(D) HeS QAU =S

TOT <1 we1 foerum=n <n faganeh
BUEEEIHRRIN

3R,
(A) yaasht e

qIfeT

o

() wfafea= fa

(B) saeft fem
(C) sEEA
D) JIHIA A9




13.

14.

15.

The mental function which does not

help in problem solving is :
(A) hypothesis formulation

(B)

means end analysis
(C) insight

(D) functional fixedness

The brain structure capable of
responding to an alarming situation

before the cortex does is :
(A) Hypothalamus

(B) Amygdala

(C) Insula

(D) Hippocampus

The following is not a scoreable
subarea of the vineland social

maturity scale :

(A) Self-direction
(B) Occupation

(C) Communication

(D) Adaptation

13.

14.

15.
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e feTond #ed 9 HIvm HHgs

FE HUG IR ?
(A) AT faered
(B) wreg-greA fogerso

(C) oImgfe
(D) wrEfoaregar

Aol SEdeh™ ol hvATqe]  WATeR
LA S ?

(A) FER=dETE

(B) stfereren

(C) e
(D) ewaHH

REee R TR Thansd @
YV qEal

(A) @=-fieA
(B) =Had™
(C) =gw
(D) s

[P.T.O.



16.

17.

18.

The

aggressive,

person 1s competitive,
hostile,

......................... . He finds waiting in

Impatient

lines quite annoying.

The person would be considered as

having :

(A) Type B personality

(B) Cyclothymic personality
(C) State-anxiety

(D) Type A personality

Twelve attitude statements are to be
scaled by the method of paired
comparison. What would be the
possible number of pairs of

statements ?

(A) 144

(B) 132

©) 72

(D) 66

the

During depolarisation

membrane opens
(A) Sodium gates
(B) Potassium gates
(C) Chlorine gates

(D) Calcium gates

16.

17.

18.
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B HeKiT Taefceh, T, ST, Sardies
3R, HMHMETES A 39 -0 TS oanT

HHSO. I HfGqHxal hid WA ?

(A) Hfeqamm=n ‘B 9K

(B) =h! gHASR AfKTHE

(C) Feerdt fefemrazan

(D) AfFHEE ‘A’ TR

AN AT faemr AR
- TS HOaAe 3. A

faurren durem Siewr=t gen fad
oA ?
(A) 144
(B) 132
(C) 72

D) 66

fagfaertona ged HIMR oS ?
A) Afezrgr

(B) wfyrmgR

(C) FAER

(D) HfeerEmgR




19. Match List I with List IT and select
the correct answer using codes given

below :

(P)

@
(R)

(S

(1)

2)

®3)

(4)

Co

(A)
(B)
(©)
(D)

List I
(Organizational Law)
Closure
Proximity
Similarity
Simplicity

List II

(Meaning)

Elements close together are
grouped together

Patterns are perceived in the
most basic direct manner

possible

Groupings are made in terms of

complete figure

Elements similar in appearance
are grouped together

des :

P Q@ ® O
@ O @ @
@ 6 O @
n @ 6 @
@ O @ 6
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19. It I 9 I 11 Iqrean Sieal oren o
I FehdlgR JHY Ik qufal

(P)

@
(R)
(S

(1)

()

®3)

Tt 1
(Herea-fram)
EMESK)
e

BSIAEG
e

Tt 11
(31e)

TEe3 STHUR Fh THEEUH Uifeat
SIGIG]

qesl feqom==an o7t goryd S
T TR0 hed gul AT

HagT B

(4) 9uA feuuR wesh THhiAaien
feama

Hehdliah :
® Q@ ® ©

@a 6 O @ ©

® 2@ 6 @O @

© o @ 6 @

D @ @O @ 6

[P.T.O.



20. Gambler’s fallacy is largely the

21.

22.

result of :

(A) Variable ratio schedules
(B) Variable interval schedules
(C) Fixed ratio schedules

(D) Fixed interval schedules

According to the levels of processing
model a memory will last longer :

(A) if maintenance rehersal occurs
(B)
(©
D)

it 1s processed at acoustic level
it 1s processed semantically

it 1s processed according to
sensory qualities

Which of the following statements
are correct of Inductive reasoning ?

(1) Processes by which one comes
to conclusion that are probable

(2) Reasoning involves generating
hypotheses and then rejecting

or accepting them

®3)

Reasoning can be expressed by
syllogisms

(4)

Reasoning involves reasoning
from a general level to specific
conclusion

Codes :

(A) (1) and (3) only
(B) (2) and (4) only
(C) (8) and (4) only
(D) (1) and (2) only
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20. R TSR HRI

21.

22.

(A) IREdl TOIRR ST
(B) uferdt shreiat ST

(C) feeR TR 7=
(D) fEeR HTAR AT

GEHIOTATAST YJTEUTIHR, T &
HAfhente fesd Wed S)

(4)
(B)
(©)
(D)

TTelterdent vl faum famaarcas
foamufea deufd sRsR 3med ?

(1)

o

3STeeUT e Ted ale

N A

chdl

&G/ A0 TTdesial Ffshan

AT UTdesior Ufsham hedl

o

N
ag

& TUITER Wikl shef

Huren frsspeivda dgwvarard]
R ATt ToaRw R

I A e O Rl

3gar ARl I foemufean

(2)

HATFIT=AT ML s/ gIomd
ICEEVIER

A Taed fafyre fsheiada

STUATETST aTqietett foremufenan
Hehd :
4 1) = (3) w
B) (2) 9 (4) ®=

®3)

(4)

(C) 3 9 (4) ®wa
D) 1) 9 (2) wF

10
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23. According to cognitive labeling | 23. ®iEles Taei IUURIIEAR, 5 TR
theory, Mohan’s heart is racing, TSR HIgTd Bed US¥ed qurfg ol
since he just ran 5 kms, and does HIATE WAl STy A& RO
not experience any emotion because : (Z&) ST TR R e 3
(A) he knows that arousal stems el Hifsd o

from the exercise - N -

. . : (B) Siegl dl 9e30l Uieadl A=l &
(B) his heart rapidly returns to its oS e
%S ST qeuera Id

normal state as soon as he stops

running (C) T9d A S HSHSd ATHIS!
(C) he does not have satisfactory TS SREMRRS Sl

explanation for why his heart Bl

is racing (D) Tl ST Tehelell 3TTg i el G-
(D) he is too tired to think about HIMAsATR! faaR T 9

anything B

24. Match the information from List I | 24. =€ [ & AT I =1 Siredl otan SO0
and List II and choose the correct W] fooiedr Shdr= SEn I 3al
answer by using the codes given IR
below : Lo a1

st L (AT
(Psychologists)
. P) frawe
(P) Guilford :
(Q Thurstone @
(R) =
(R) Spearman
(S) w=A
(S) Stern
List II (q,'é' H)
(Concepts) Rl
(1) Primary mental abilities (@) j;”,” 1< l‘l ”,“ b &THT
(2) ‘S’ and ‘G’ factors of intelligence 2) 8 = G gfeET HeF
(3) Content, process and product (3) &R™, Hiw F WROTH (STR)
dimensions of intelligence EIELNIIRER] )
(4) Ratio 1.Q. (4) TR gfs o
Codes : W :
® Q@ ® © P Q@ ® ©
@ @ 6@ ©O @ @ 2 & O @
® 6 O @ @ B & O @ @
© O @ @ B © O @ @ 6
® @ @ 6 @ O @ @ B @
11 [P.T.O.



25.

26.

The validity scales of the MMPI are
represented by the following
alphabets :

A) T, F, C

B) L, F, K

(© M, P, R

M Y, N, C

Match List I with List II and
indicate your answer using the codes
given below :

List I
(Scaling method)

(P) Paired comparison
Q
(R)
()

Equal appearing intervals
Summated ratings
Scalogram
List II
(Features)

(1) Assesses unidimensionality of
the scale
Suitable

multidimensional attitudes

@) for assessing

(8) Uses Thurstone’s law of

comparative judgment for
computing scale values
(4) Suitable for scaling large
number of attitude statements

Codes :

® Q@ ® ©
@a 6 @ @@ @
B G @ @ @
© @ 6 @ @
D & @ @O @

25.

26.

AUG - 13215/11

TH.TH. 9. 313, == Kfdafed! The™
eI SUS STENeRAl qRifaedl 3Ted .
A) &, Tk, Gt
(B) T, TH, &
(C) @, b, 3R
(D) I, w, 4t
It 19 At 11 9= Siea o o
e FehdlgR qad SaX q9ie ¢
EIC
(ATIIeRTUT Uga)
(P) I ger
Q I7esft e
(R) 9Hhicd qef e
(S) ThaH
Tt 11
(afyree)
(1) wrot=an Twiafdwa= gearsd
G|

(2) wgfada srfvg<i=ar ATaAETe]

U
(3) u=T= gomte ot freEmEn

AUHed FISUIMEET YA Hld

@) s=ara erfugsi-faumren
IR LIS TR

Hehdleh :
P @ ® 6

@ @ @ @ @

®B @ @ @ @

€ @ & @ @

D & @ @O @

12



27. Which two of the following

statements are usually true for

punishment ?

(1)

@)

®3)

(4)

Punishment decreases the
likelihood of a particular

behaviour

Punishment increases the
likelihood of a particular

behaviour

Punishment leads to

undesirable consequences

Punishment is used to promote

adaptive behaviour

Codes :

(A) (1) and (2) only

(B) (2) and (3) only

(©) (1) and (3) only

(D) (2) and (4) only

AUG - 13215/11

27. Todwadt arcicis Hod sH foem

g @ 3TRd 2

(1)

(2)

®3)

(4)

ee faftre ad@ w2 oAt
YRl 3T
eme faftte ad=a g&i groarst

Tl 3T

e samea 9o fog A

gfqaister Il ATl SUTEIS!

o= SwEm Sen S

- -
-
.

A 1) 9 (2 w

(B) (2) 9 (3) ®aa

(C) (1) 9 (3) wa

D) (2) 9 (4) ®aq

13

[P.T.O.



28. Match the statements with memory

models and choose the correct

answer by using the following code :
List I
(Models)

(P) Attribute model

(Q Prototype model

(R) Exempler model

(S) Associative network model
List II

(Statements)

(1) Concepts are represented by
nodes

(2) Concepts are represented by list
of attributes

(3) Concepts are represented as an
abstraction of characteristic

features

(4) Concepts are represented as

specific instances
Codes :

® @ ® ©
@a @® 6 @ @
B @ @ @G @
© @ @O @ 6
D 3¢ @ @®O @
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28. IRI 19 ARl 11 AEfia Siredn Seod o

el feoiean Thdre ER I Sl
aer

RICUN |
(uTEY)
(P) 3TYd U U&Y
@ ErET JrEy
(R) THRIFTR &
(S) wETditHe WIid UT&EY
Tt 11
(faem)
(1) oo fatfaa Teggr Ba

(2) Heheuars Ul fed o
Y =aagR B

(3) Hereuare Wfaffea Torfersear=n
STRTOMGR B

(4) fafere w1 Heheuw = widfafaa
AT

Hehdich :

® Q@ ® ©
@a o 6 @ @
B @ @ @G @
© @ o @ 6
D 3¢ @ @®O @

14



29.

30.

Fluency, flexibility and originality
are characteristics of :

(A) Convergent thinking
(B) Divergent thinking
(C) Symbolic thinking
(D) Critical thinking

Read the following statements
regarding heredity and environment
controversy and select the correct
statements

(1) Genetic
account for many of the

differences could
observed differences between
individuals

(2) Environment effects could
account for observed differences

between groups

(38) Genetic differences could not
account for differences in IQ
to an

among individuals

appreciable extent

(4)

Environmental factors play
significant role in 1IQ

Codes :

(A) (3) and (4) only

(B) (1), (2) and (4) only
(C) (2), (3) and (4) only
(D) (1), (3) and (4) only

29.

30.

AUG - 13215/11
Yafed, dafaerar o difeendr & I
EINII G
(A) THheel foen
(B) =igateft fa=m
(C) wehfae fo=mR
(D) wfesr fa=amr

erell foerelt oTgarer et gferst =
FREEgYide fasm aran s I W
e .

(1) e fieomgR fToed si=
g ¥ 3rqafyren f=raeh fFrdia sa
SIERIE I

Femea ievmgR oo 98
TR 9RO fFAEid el s,
RMehdld

SHRITHET  SFITUTehTdIe  SETHTe!
TR HRE FeATSRN B ST1

Iehd TR

FSIIUNRT IRERE Bk q&Toiy
fHeRT SIS

F@‘dﬁﬁ .

(A) (3) o (4) e

B) (1), (2) Ao (4) e

(C) (2), (3) efvr (4) e

D) (1), (3) o1 (4) e

()

®3)

(4)

15

[P.T.O.



. Match List I with List II and select

your answer by using the codes
given below :

List 1

(Nature of Intelligence Measure)

(P) Measure of intelligence that
takes into account both the
person’s chronological and

mental ages

Tests predict a person’s ability

@

In a specific area

R)

Intelligence which reflects
reasoning, and
information

capabilities

memory
processing

(S

Model of intelligence presented
by J.P. Das

List II
(Measured aspect)

(1) Information processing
(2) Fluid intelligence
(3) Aptitude
4 1.Q.
Codes :
® Q@ ® ©
a @ 6 @ @
® 6 @ O @
© @ @ @ @
D @ @©O 6 @

31.
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el 19 et 11 =1 SISl e STy

IR {*i‘*(‘ll&'l{ glj-l‘c{ 3l T ¢
arer 1
(THHT AR Tw)

(P) SSIHd HIU i S Ak TR
9 AAfgs o9 faer@ =

(Q fafere &omdta =afed=n arar
JERAT HIOR AT

(R) ek &Toal, Tt o Hifedt Tfshamerma
S I A "Edd g
T

(S

Jret 11
(mifra afvree)

(1) #ifed gfshaa
(2) WA JgrHa
(3) sAfyerAan
(4) IfgomeR
Hehdich :

(P)
4) @
B) 3
© @
(D) (@)

(S
(1)
(2)
(3)
(4)

R)
(2)
(1)
(4)
3)

@
®3)
(4)
(2)
(1)

16



32.

33.

In the item analysis of an ability
test, item remainder correlation is
employed. Which one of the
following correlations should be

used for this purpose ?

(A) Tetrachoric correlation

(B) Phi-coefficient

(C) Point biserial correlation

(D) Contingency coefficient

Which of the following is released
maximally during the first few hours

of sleep ?

(A) Cortisol

(B) Testosterone

(C) Growth hormone

(D) Melatonin

32.

33.

AUG - 13215/11

THAT =TT ArEu-yy  faversond,
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Question Nos. 34 to 38 :

In the following questions, each

question has two statements —

Assertion (A) and Reason (R). Read
each question carefully and decide
whether Assertion and Reason are
individually correct or not, and if
they are correct, whether the Reason
1s a valid explanation of the
Assertion. For each question, before
the corresponding question number,
indicate your answer using the

following codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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9T o, 34 o 38 :

et JeAHed, Yok Jed S o)
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34. Assertion (A) : 34. fagm (A) :
Eysenck’s theory would predict that R I I T‘El,ﬁﬁﬁﬁi‘?
a person high on Neuroticism may ’
be highly extrovert moderately ( ) RF=
extravert or introvert. Sfeqerdor 3=, AeAm fohar sfqdw@ &
Reason (R) : .
According to Eysenck Extraversion %RUT (R) :
and Neuroticism are orthogonal - e .
AT IR afegEd d I agH
factors. el : E
_ AT e 3ea.
35. Assertion (A) :
Illusions are instances in which 35. faem (A) :
perception yields false interpretation gamesy Ofas arqa™ ti\ehﬂla e
of physical reality. ExN
Reason (R) :
wRuT (R) -
Illusions are influenced by cultural
experiences. WRepfash STYEER 99 gwifad gram.
36. Assertion (A) : 36. faam (A) :
A strong visual illusion is created T Eied gfev R e, e
by the Ames room, wherein an R . - ’ -
individual walking backwards and AT T Sl ST FeTe
forwards appears to grow and shrink T
as he moves. FT R) :
Reason (R) :
THY W=l STHIA shefd! 318 3T Anfie
The Ames room has a sloping floor, . .
L , fug  arg=ar fudied wesiE
and a rear wall which is not at right
angles to the adjoining walls. T e
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37.

38.

Assertion (A) :

Neurons cannot fire during the

absolute refractory period.

Reason (R) :

Dale’s principle states that a neuron
can release only one neuro-

transmitter.
Assertion (A) :

In the classical test theory,
according to true score model, the
observed variance of test scores 1s
the sum of true variance and error

variance.
Reason (R) :

The random errors of measurement
are assumed to be uncorrelated with

the true scores.

Instructions for questions 39 to 43 :

Read the following paragraph and
answer the five questions following
it :

Paragraph : A researcher wanted
to study the effectiveness of a new
antidepressant drug, developed by a

pharmaceutical company, for the

37.

38.
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faam= (A)

e o Sramed SaIsh sria
g YT e

&RuT (R)

JATIR R &T0T hE  ITehdld.

faam= (A)

Afusra I SUURdId, 9w

JTEITIHR, S0 YTeh ToR0l § A

Tl 9 YHIE TERO A 9{S 3THd.
&RuT (R) :

A=A Aad gehT AT FeaTS e

oAl U9F oh, 39 d 43 WEl

Jeiel IRwes el d ETelel urel Feert
IR A :

e : sfivufmier sy o
holedl Teh! -Ta STaER ifiseare

AIATY, THI

gfroTTasRTIERd fasr=t
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treatment of depression. The
researcher hypothesized that the
new drug would be useful in the
treatment of depression. Thirty-five
depression patients were randomly
selected from a pool of newly
admitted depression patients in a
state hospital for psychiatric
disorders. The severity of depression
was assessed for each patient by a
suitable depression symptom check-
list, the higher

associated with depression.

score being

Afterwards, for a period of two
weeks, each patient received a daily
specific dose of the new drug. At the
end of the two weeks, again each
patient was assessed by the same
depression symptom check-list. The
mean depression symptoms were 16
and 22 for the first and second
The

corresponding standard deviations

assessment respectively.
were also obtained. The mean
difference was evaluated by the
appropriate statistical test and the
statistically

difference was

significant at 0.1 level.
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SO STEHIGTEA ioid Jedieh Tahl

AT SIS AL FEHIGR HITAT ST

I1q 31feer UTaieR 3TfHeR eYeEIe < vifaq

BIA1. I SH 3T, UST, Yk TIUTTeT,
TR ST Sufae A S

a : SN =
Sl a_"l SHlSdSAUIdAR Hol, AcHen U

IR, T STIEIE &0 GHigR hivad
M. STIEIE A0S T (means) YA
g fgdfta qedienrea Jad Tgwd 16 9
22 3 Bd. A I Reordidia stadrg

AT FATY fo=ed B Sieuard 3TTel.

T ALATAA ®IRTD AR AT
HIEHha ATEUIGR L0 3. 31 Hlh
TEANTEE™ .01 TdesiaR Al
BIal.
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39.

40.

Which of the following conclusions
can be drawn on the basis of the
present study ?

(1)

The new drug has adverse effect
in the treatment of depression.

(2) The null hypothesis has been

rejected

®3)

The researcher’s hypothesis has
been accepted

(4)

From the given data, none of the
above inferences can be drawn

Choose the correct option :
(A) (4 only

(B) (1) and (2) only

(C) (1) and (3) only

(D) (2) and (3) only

Which of the following statistical
tests can be applied in the above
study for evaluating the mean
difference ?

(1
(@)
3)
(4)
Choose the correct option :
(A) (3) only

(B) (1) and (2) only

(C) (2) and (3) only

(D) (3) and (4) only

Independent samples t-test
Repeated measures ANOVA
Paired samples t-test

Kruskal-Wallis H-test

39.

40.
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T AFITER JEIAUh! IV STIAM
FEd IgA ?

(1)

AR SUANd T Sef-
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AN JFYITH AhReAT SId
TIMEhM ST Thd B

feciedn gexr=ar S, acuehi
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I 9 e
A) (4) wx
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(4)

B) 1) 9 (2) wx
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41.

42.

In the above study, depression can
be labelled as :

(1)
2)
®3)
(4)

Choose the correct option :

Continuous variable
Dependent variable
Stimulus variable

Organismic variable

(A) (2) only

(B) (1) and (2) only

(©) (1), (2) and (4) only
(D) (2), (3) and (4) only

Which name/s can be employed for
the design used in the present
study ?

(1)
2)

Matched groups design

Randomized groups design with

pretest and posttest
3)
(4)

Choose the correct option :

Repeated measures design

Pretest-posttest design

(A) (4) only

(B) (2) and (4) only
(C) (1) and (3) only
(D) (3) and (4) only

41.

42.
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43.

44.

45.

The present study can be best

regarded as an example of a :
(A) Quasi-experiment

(B) Multivariate experiment

(C) Controlled experiment

(D) Multivariate field experiment

Which of the following equations is

correct according to Emmart’s law ?

(4)

Retinal image size = Perceived

distance X perceived size

(B)

Perceived size = Retinal image

size X Perceived distance

(©)

Real size = Perceived size X

Real distance

(D) Perceived distance = Real size

x Retinal image size
‘Token economy’ is based on :
(A) Classical conditioning
(B) Operant conditioning
(C) Purposive behaviourism

(D) Observational learning

43.

44.

45.
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46.

47.

Which of the brain part is

responsible for consolidation of

memories ?

(A) Hypothalamus
(B) Hippocampus
(C) Thalamus

(D) Cingulate cortex

You see a dog on the street and you
do not know if it is friendly. You
have a dog at home. It is friendly,
you have a dog at your next door
and that is friendly too. You decide
that this dog on the street must be

friendly too. This is an example of :
(A) Means-end thinking
(B) Functional fixedness
(C) Inductive reasoning

(D) Deductive reasoning

46.

417.
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48. Match List I with List IT and select

your answer from the codes given

below :

List I

(Approaches to Motivation)

(P)

@
(R)
S

(1)

@)

®3)

(4)

Cognitive approach
Instinct approach
Arousal approach
Humanistic
List II
(Characteristics)

We try to increase the level of

stimulation if it is low

Expectancy of value motivates

individuals

People need a safe, secure

environment to function

effectively

Motivation is the result of an

inborn pattern of behaviour

Codes :

A @
(B) (2
(C) (@
D) )

()
(4)
(3)
(1)
(2)

® @ ®
@2
@ @
@ @

1 @
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(2)
4)
®3)
1
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49.

50.

Deviation 1.Q. as a form of

normalized standard score was first

used 1in :

(A) Stanford Binet Scale

(B) Wechsler Intelligence Scale

(C) Jenkin’s Intelligence Scale

(D) Sternberg’s Intelligence Scale

Form level rating is used in :

(A) Thematic apperception test

(B) House tree person test

(C) Rosenzweig Picture frustration

test

(D) Rorschach Inkblot method

49.

50.
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ROUGH WORK
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